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b. X?ﬁ +3?)<:f2
d M=
G g7y | y%;Ezj

<X2>’-j + )(2(3>/ + Oj'z-)/_x + 32_ (X>/ - O
P9y k29 2yt 2O

X j/ + QX‘GU/ :_51—28

4'(x2 +2><3> =—\l12—2><\7
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3. RB' : X—ZZ/ (X@'/Z:X_ZB
3 Lo ] = £ [z

26D (x5) = |2 y’

Wy (' 1y) = -2y
X9 .Y . -2y

Q\ﬁg ijh\‘j'

xy' / Y

205 + Ry "-'527;@
_ 9

ye - <5
—
Ay T2

0. o?simx(o?ﬂ = |

d
aTEQsinxcosljj = ;;Ej
CQS'U\)D/COSJ + Asiny ((osj>/ = O
2 Cosx coitj 4+ AsinX C'S‘“lbj /= O
(‘Qsinxs'\r\jBﬁ/ - ~2C03><C03\(j

3,:\:2cosx<053 Z[tXCO‘l:
Sinxsiny 0 /Q
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lQ (Siﬂ-'“-x -\-(oST\'ﬂ)z ;2

54; [( stoTx + (os‘"gjj = d%’(_ [Zj

- /
2_(smrrx+cos1r3> (sin nx+(05"j> =O

2(sinTx +cosn5> (Cosﬂ'x T+ (—Sin"_‘b "’T"j/> =0

(Qsmwx 4—2<‘osrrﬂ> (Trcosm-x —y /s'-n'lT:D =0
<rsinTove os'rrx—gwj
2T sin TTYCOSTIY 4+ D1~ co

/7 _. - ’/c
Snmrxsmn—j + 21T Costrx cosm '215/““3"@

SmXcosry =)0 /:sirmxsimT + 2w =,
QTrsin-nchSTrx +2-ﬂ—cosﬂx (\stﬂﬂ j 1\'35\/\‘\"5@5'“_(3
_ /
21TSinmX si (\TIB +21Tsinrr\(jcosn\¢j B 3

LT cosmx Ginﬂy+ ) o/
Xrtsmwb (sin SUP)) ‘j

|
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32 . Folium of Descastes
X31—\Lj%-— (OX\(j =0
£ind the slope of

Hre tament lin
—N\jz_ ¢ @
3.3

%_):X3+33_ (a)(\ljj - O
3x:+3jl,j/_0 (|.3 % 39 )
D3y ey -lowy = O
3315/"”5' = LoU-BxL
y'= ‘”5L~3x1 - ¥ (2y-x)

35 - X Z(g"—?x)

4 Lo
CARTAGA A
° R H —

40. Find \(j” interms of x kY.
y=4x

253/24—
y'= L= Z -

_— e =
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Homework:

2.5 #1-390dd; 43, 47 — [ mplicit Diffeohiahon
(2.6 #15-230dd; 25,27,35 ")
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